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Run 229365  Event 96751  Class: 4 5 6 7 8 11 19 22 28 29 Date 29/11/1998

E´= 381 GeV;      = 13.0°θ

Q² = 41550 GeV² ;   x = 0.545 ;  y= 0.751 
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Run 239351  Event 72487  Class: 4 5 6 7 11 19 25 28 Date 02/04/1999

E´= 329 GeV;      = 14.5°θ

Q² = 35720 GeV² ;   x = 0.358 ;  y= 0.810
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Run 234371  Event 25914  Class: 4 5 7 8 11 19 25 28 29 Date 13/02/1999

E´= 262 GeV;      = 14.9°θ

Q² = 28440 GeV² ;   x = 0.351 ;  y= 0.85 
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Run 219628  Event 64747  Class: 4 8 16 19 28 29 Date 05/09/1998

Q² = 203 GeV² ;   x = 0.0028 ;  y= 0.714 

E´= 9.75 GeV;      = 128.5°θ
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Run 219632  Event 48559  Class: 4 8 11 19 20 28 29 Date 05/09/1998

Q² = 125 GeV² ;   x = 0.00186 ;  y = 0.732 

E´= 8.54 GeV;      = 137.4°θ
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Run 219632  Event 95462  Class: 4 8 19 28 29 Date 05/09/1998

Q² = 343 GeV² ;   x = 0.00464 ;  y= 0.773 

E´= 9.37 GeV;      = 109.9°θ
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Run 220938  Event 11394  Class: 4 19 28 29 Date 16/09/1998

Q² = 368 GeV² ;   x = 0.00336 ;  y= 0.872

E´= 6.87 GeV;      = 91.9°θ
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Run 240357  Event 60675  Class: 4 9 12 15 19 22 28 29 Date 12/04/1999

E´= 7.10 GeV;      = 129.5°θ
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Run 240168  Event 43157  Class: 4 7 16 19 22 28 29 Date 12/04/1999

θE´= 7.88 GeV;      = 127.5°
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Run 220300  Event 11388  Class: 4 8 11 19 20 28 29 Date 11/09/1998

E´= 7.99 GeV;      = 82.4°θ

E           = 21.1 GeV
SpaCal
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Run 234228  Event 95631  Class: 4 11 19 20 28 29 Date 11/02/1999

E           = 23.6 GeV
SpaCal

E´= 6.01 GeV;      = 90.8°θ
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Run 220499  Event 3404  Class: 4 7 8 11 19 23 27 28 29 Date 12/09/1998
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=110.8°= 141.4°θe φeE = 16.5 GeVe

=289.3°= 136.2°θγ γE = 14.3 GeVγ φ

Run 222520  Event 18060  Class: 4 7 8 11 13 16 19 22 27 28 29 Date 27/09/1998

Z

R

X

Y

= 49.0°= 97.9°θe φeE = 15.0 GeVe

=288.8°= 128.8°θγ γE = 19.8 GeVγ φ

Konversion des Photons
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Run 220732  Event 13755  Class: 8 19 20 27 29 Date 15/09/1998
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Y

X
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= 97.1°= 171.6°θγ φE = 27.0 GeVγ

=279.5°= 47.7°θe eE = 5.3 GeVe φ

γ

Run 219714  Event 16274  Class: 4 11 13 16 19 20 27 28 29 Date 09/07/1998

Z

R

=110.6°= 158.8°θ 2E2 2= 19.4 GeV φ

=294.7°= 135.5°θ1 1E = 10.2 GeV1 φ
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Run 222122  Event 9398  Class: 4 8 11 16 19 20 28 29 Date 23/09/1998

Z

R

LadungE[GeV] θ[°] φ[°]

LArC 1:

6.8

8.8

_

SpaCal 2:

115.8

162.9

283.8

125.7

58.6

+

_

SpaCal 1: 17.4 150.1
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X
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Run 219663  Event 163614 Date 06/09/1998

Z

R

LArC 2:

LadungE[GeV] θ[°] φ[°]

LArC 1:

3.4
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6.9

_
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Run 240415  Event 120262  Class: 4 7 8 16 19 25 27 28 29 Date 13/04/1999

Z

R

LArC 3:

LArC 2:

LadungE[GeV] θ[°] φ[°]

LArC 1: 100.7 87.7

14.1 138.2 272.6

+9.5 57.8 269.1

20.1 _

_
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Run 234459  Event 153757  Class: 4 5 6 7 11 19 27 28 29 30 Date 13/02/1999

= 22° ,  E = 295 GeVθ

Z

R
X

Y

Run 238475 Event 68529 Date 25/03/1999

= 133° ,  E = 13 GeVθ
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